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6. (5%) What are the common ways to provide persistence to objects using relational

databases?
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8. (10%) Please explain when to use total specialization and when to use partial
specialization.
9. (I5%) #FHH F& java BX 43ITL R
public class Count {
public static int ACint x) |
1f (x<30) x=A(x+5)+B(x);
return x;
} |
public static int B(int x) { EEHWMAEERA

System. out. print("*");

return 4%x:




}

public static int C(int x) {

System. out. print("*");

return 3¥A(x-4);
}

public static void main(String[] args) {
System. out. println(A(4));
System. out. printin(B(4));
System. out. printin(C(4));
} . .
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public class MyParser {

public static void parse(String str) {
try {

float f = Float. parseFloat(str);

} catch (NumberFormatException nfe) {
f=0;

i finally {

System. out. printin(f);
}
}

public static void main(Stringl] args) {
parse("invalid");
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